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IBPS RRB PO Pre 2024 Memory Based Paper Based on 3rd August 1st Shift

Directions (1-5): Study the following information carefully and answer the questions given below:
Raferfea s #1 sargE® segge fiforg 3w 7= e e it F s dfem|

Fourteen persons sit in two parallel rows. A, B, C, D, E, F, G sit in row-1 facing north and P, Q, R, S, T, U, V sit
in row-2 facing south such that the persons sitting in row-1 faces the persons sitting in row-2.

V is the only immediate neighbour of S. T sits 2nd to the left of V. Two persons sit between T and the one
who faces F. A sits exactly between B and C who sits diagonally opposite to R. A does not face V. P faces D. G
faces the one who sits just right of U. E does not face T.

Alag Ah &l GG AT § 55 8l A, B, C, D, E, F, G 9T<h-1 & 3T & ¥ @ Fah o P, Q R, S, T, U, V Uf<h-
2 T TIETT T 3T 7@ Tk o7 T 95 g o6 di<h-1 § 95 ATh dieh-2 | 95 AT 61 AT 37T 2|

V, S T TS Hehed® ST g1 T, V & ST T T &A1 92 937 gl T 3% ag =ATh ST F &t ¥ 3749 &, %
T 77 ARE 95 81 B 3T C 3 31 a9 § AT g 4T C, R F Tashvia: o< a1 g1 A, VT X 379 95! gl P,
D #t ¥ I7q@ Z| G, U F & a13 § =af<h il 31T 370 g1 E, T T 3% 3+q@ 721 2|

Q1. Who sits second to the right of the one who faces B?
B T X I=g@ =46 % IMS N GAL TATH T A 987 82

(@Pp

(b)Q

(AR

(d)S

(e)U

Q2. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

Referied afr | & =X T [ o & T 59§ 8K 9o UF J9g a41d 8| Refeied 8 & 9 59 a9y
¥ gdfaq gl 82

@V

(b)A

(au

(d) G

(e)F

Q3. The numbers of persons sit between Q and R is same as the numbers of persons sit to the left of

QAR AT AR A der, | Hard ¥y safndt £ dear awacd
(@) G
(b) D
QU
(d)C
(e)V
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Q4. If U is related to Q in a certain way and B is related to F in the same way, to whom is A related?
7fe U o fAfera 8% & Q & 44faa & sk S 9@ B, F 4 4&faa @, av A @ ddfaa grme

(@ E

(b) D

(c)B
() F

(e)C

Q5. Which of the following statements is true?

R s s a-ar T ?

(a) P sits diagonally opposite to F/ P, F & fasuia: fAadq 18

(b) More than one person sits between D and G/ D 3% G & &= U & sffers AR 95 8
(c) P does not sit just left of U/ P, U % 3t 10 A1 3T &

(d) F sits at one of the extreme ends/ F el T R ar =18

(e) None is true / &1 AT AT AL

Directions (6-8): In these questions, relationships between different elements are shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate answer:

T I H, FAAT A A gt & = dee q9iT 1T gl FUEl F are fAewd fRw e §) Rw T wuEt F e aw
At 1 sremae Fiforg s ST FT 397 fifvm|

Q6.
Statements: P>Q=Rz5<T U=5>W
Conclusions: .P>T ILW=P

FYT-P>Q=R25<TU<S>W
e LpsT ILW<P
(a) If only conclusion I is true./ 7% Fae FohY | T &
(b) If only conclusion II is true./ T(% Faer Moy [ 7 8
(c) If either conclusion I or Il is true./ TT< 3T qT T [ AT [ T &
(d) If neither conclusion I nor Ilis true/ IR A AT AT [T T 1 T 5
(e) If both conclusions I and II are true./ < ey [ 3T 11 THT O &

Q7.
Statements: M=N=0>G<Q=R S<R=T

Conclusions: . G<T ILG=R

YT M=N<0>G<Q<RS<R=T
et L g<T ILG=R
(a) If only conclusion I is true./ % s AT [ 9T
(b) If only conclusion I is true./ % Faer Ay 11 G g
(c) If either conclusion I or I is true./ X AT AT ASFT [AT I AT &
(d) If neither conclusion I nor Ilis true/ IR A AT T [T T 1 T g
(e) If both conclusions I and II are true./ < T [ 3 11 T 9T &
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Q8.
Statements: B=CzD=E>F=G<Y<H
Conclusions: . C< E ILG=<D

YT B2C2D=E>F<G<Y<H
et Lc<E ILG<D
(a) If only conclusion I is true./ 1% Faer Ay [ G 8

(b) If only conclusion Il is true./ Tf< Faer Ay [1 T

(c) If either conclusion I or I is true./ I AT AT ASFT [ AT T &

(d) If neither conclusion I nor Il is true./ AR T AT AT A ST LI AT ¢
(e) If both conclusions I and II are true./ Ff% s [ 3f¥ 1 I91 T

Q9. In the number ‘748523971’, how many pairs of the digits have the same number of digits
between them (both forward and backward direction) in the number series?

H&AT '748523971" #, 3 & fha AT & o= (3T i ey = et /) It S T § foraet Sk o=
T s i A 27

(a) Four/ Am¥

(b) Two/ &¥

(c) One/ T=

(d) Three/ &=

(e) More than four/ 9T ¥ SfereH

Directions (10-12): Study the following information carefully and answer the questions given
below:

e Sl #7 ermgE s deaa frg i A= e 17wt F S i)

Q is the only daughter of R who is the mother-in-law of U. S is the paternal grandfather of Q’s nephew. S has
two sons, one daughter and no siblings. X is the sister-in-law of T. U is the mother of Y who is married male.
W is the uncle of T who is not a daughter of V. P is the aunt of V who is sibling of Q and W.

Q R #T ZHAT T=AT & TAT R, U sl ATH §1 S, Q 3 HAST/ATST T ZT&T &1 S o &1 T, T [T g 3T File Agia< Tal gl
X, T %t frees-za-a1 g1 U, Y %1 ATaT & a7 Y Fared 18w 81 W, T &7 siet g a1 T, V Al T J=i gl P, VT stie

g TIT Q 3fT W T Hgre< V &l

Q10. How is Q related to Y?
Q, Y ¥ forg whie wferq 872
(a) Mother/ H1dT

(b) Aunt/ze

(c) Uncle/3shet

(d) Mother-in-law/ T8

(e) None of these / T7H | ®ilE Agl
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Q11. Which of the following is true?
fRafafea # as-araa 82

(a) Vis the daughter of S/ V, S Ft =T &

(b) Yisson of X/ Y, X® 5

(c) W is the P’s nephew / W, P &T SiSIT/ATSIT §
(d) Sis the U’s father/ S, UFT fUaT g

(e) All are true / T T &

Q12. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

et o= # @ 91 uw [AfEm % & tF 39§ ik 3afe oF ag aara &) RafifRa d @ s sa ag
& e et &7

(@Y

(b) T

(c) P

(AW

(e)S

Directions (13-17): Study the following information carefully to answer the given questions:

o g et 3 I A forg et St 1 garagEes sreaae fifsrg)

Ten persons N, O, P, Q,R,S, T, U, V,and W, are living in a five-story building such as ground floor is numbered
as 1, above it is floor 2 then top floor is numbered as 5. Each of the floors has 2 flats in it viz. flat-X and flat-
Y. Flat-X of floor-2 is immediately above flat-X of floor-1 and immediately below flat-X of floor-3 and so on.
In the same way flat-Y of floor-2 is immediately above flat-Y of floor-1 and immediately below flat-Y of floor-
3 and so on. Flat-X is in west of flat-Y.

Two floors gap between S and O but both live in different named flat. S lives just below P but not in the same
named flat. O neither lives 4t floor nor 5t floor. V lives in west of T who lives just south-east of N. U lives
just above W’s flat. Q lives north of R.

A ATEN, 0, P, Q R, S, T, U, V 3T W T T HISTAT THILA H T8 T8 & 9T S0 | ad &l 1 & &7 § FHH{hd
TohaT T §, TH SU¥ WO 2 g TAT HaH ST HIoTd &l 5 o & H FHHIHT hIT AT gl T Hioret 9¢ 2 A
FIATT FAS-X 3T Fefe-Y gl HIrA-2 FT FAe-X, o1 % FAe-X & S SHUL g AT HIoTA-3 & Fole-X F SIh A9 &
T THT T AT AT 1 THT T HIOA-2 FT FASY, HIOTA-1 F Fole-Y & ST FUT g TAT HIoA-3 F FAe-Y F S
= & T ST TR 3 | 1 FAe-X, FAe-Y % qiH 7 2

S 3% O o 1= IT HISTAT T 3T & AT QAT STAT-3TT ATH AT Tl H W& g S, P 3 ST A= TgaT g ATohed 9H T
ATH 9T FAe | Tal T@al gl O T ar At 7S 9% Tgar ¢ i 7 gf at=ei #iorer 92 Tgar 81 V, T & 9% § Tgar
g AT T, N % 31 I(e97-94 | TaT gl U, W & T % 1% S9¥ Tgdl gl Q R & S H TZaT gl

Q13. Who among the following lives in Flat-X of 2"d floor?
fefofaa & & #19 gl 49 F ®e-X | war8?

(@Pp

(b) S

(Vv

(dR

(e) None of these/ THH & &I AG!
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Q14. Which of the following groups live on an even numbered floor?
Rufofea & & F19-a1 a3 a7 9ea7 areft /i 9 Ear 82

(@Ss,T

(bR U

()R Q

(dVv,w

(e) None of these / TAH T FS H‘@

Q15. In which of the following flat-floor does R lives?
R FRerfefaa 7 & e e 7 ok e s a2

(a) Flat-Y, Floor 3/ ie- Y, #foret 3

(b) Flat-X, Floor 1/ %i=- X, #foret 1

() Flat-X, Floor 2/ %t2- X, Hforet 2

(d) Flat-Y, Floor 4/ ®e- Y, §forer 4

(e) Flat-Y, Floor 1/ i2- Y, #foret 1

Q16. How many floors are between Q and the one who lives just below T's flat?

Q s 3 ARK S T ¥ AT & S A1 AT &, F A1 (ohawT A IS 57
(a) One/ T

(b) Three/ =

(c) Two / &1

(d) None / FTs 5t

(e) None of these / TH H &< A5l

Q17. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

FRafefeT o= ® & 9 o= [fea o8F § & 99 § ik afee us ayg a9 8 Refea # a s sa agg
q Hefaa 78 82

Y

(b) T

(c)S

(d) W

(e)O

Q18. If we form a four-letter meaningful word by using the first, second, third and sixth letter from
the left end of the word ‘FELICITOUS’, then which of the following will be the second letter of the
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no
meaningful word is formed, mark X as your answer?

7% g ‘FELICITOUS’ $15% & STU ®IX & g, T, TR 3T TS AT T ITANT FHlh AT A& T AT A7
AT §, A7 MefeiEa § & F9-97 &2 30 THIK a9 9T 768 il T AL gET? ITs TH F AT8H M58 a7
&, AT Z T oI9S & T | sifha hItorgl AT e Areiew 463 Aol a+aT g, v X Fl (9« S & €T | 3T
HIfrg]

(@F

(b) 1

(c)E

(d)X

(e)Z
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Directions (19-22): Answer these questions based on the following information.
el s F sram g v F S

In a certain code:

“happy not bad good towards” is coded as - “xa pb ut nq tf”

“good smile sorrow towards” is coded as - “ut tf rd 1k”

“smile happy not sad” is coded as - “pb rd xa zh”

“bad sorrow towards” is coded as - “nq lk ut”

e Forfre e

“happy not bad good towards” #T - “xa pb ut nq tf” % ¥ § Fedg ERIREIE
“good smile sorrow towards” &I - “ut tf rd Ik” % &9 § Feag a1 AT g
“smile happy not sad” T - “pb rd xa zh” & 9 § Feag FHATTATE

“bad sorrow towards” &I - “nq Ik ut’ & 9 § Feag HATTATE

Q19. What will be the code for “smile” as per the given code language?
< TS HT AT & AT “smile” ¥ g gz F=ar g m?

(a) xa

(b)rd

(c)nq

(d) pb

(e) None of these/ THH ¥ TS AT

Q20. What will be the code for “not” as per the given code language?
2 IS FE WTHT 3 SETE “not” F e iz .41 g ?

(a) tf

(b) nq

(c) pb

(d) xa

(e) Either xa or pb/ IT dT xa AT pb

Q21. Which among the following word is coded as “nq” as per the given code language?
2 IS FE AT F ST Aeferfea ® & $:19-97 915 “nq” F T A F2dE 57

(a) good

(b) sorrow

(c) bad

(d) happy

(e) None of these/ TAH | FIs gl

Q22. What will be the possible code for “happy good” as per the given code language?
<1 TS FE ATHT & SIGETE “happy good” ¥ forg ewifad & T g m?
(a) xa tf
(b) rd tf
(c) xa pb
(d) nqlk
(e) Ik zh
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Directions (23-26): In each of the questions below, some statements are given followed by
conclusions/group of conclusions. You have to assume all the statements to be true even if they seem
to be at variance from the commonly known facts and then decide which of the given conclusions
logically follow from the information given in the statements:

= o 1T 3= v § 51 9 R T § e a1e 31 Ao /Rssit v agg o @1 sraenr ol vt iy
T ATAAT 8, W 51 F TATTT a241 & T4 T g gt 3% {7 77 Far g 6 Rw 1g Aot & & F-a7 Aowd
FAAT R QT IS, FATAHTL FT qTRR €T & ST FLAT g

Q23. Statements: Only a few apple is orange.

Some orange is grapes.

No grapes are banana.

Conclusions:

I. Some grapes are not apple.

II. All apple being banana is a possibility.

FA: FAA T, T, AT 2

7 A, o B

FIS S, FFTET gl gl

ey

L. T o, To0 A5 B

11 Y TOIe o FATET 21 sl FFATET g

(a) If only conclusion I follows./ TT< e MY [ AT HLAT 5§

(b) If only conclusion II follows./ T{% Faer TR 11 FTHLOT HTAT &

(c) If either conclusion I or I follows./ T 2T T S [ JT I SIET0T AT g
(d) If neither conclusion I nor II follows./ If< 7 qT HohT [ T BT 11 AL FAT &
(e) If both conclusions I and II follow./ 7% et | i< 11 T AT FXd &

Q24. Statements: All cat are dog.

Some dog are not lion.

Only a few tigers are lion.

Conclusions:

[. All cat being lion is a possibility.

I1. All tigers being lion is a possibility.

FI: THT Fe, ST |

T ST, AT A5l 2

AT Fg ST, AT 5

Ao

I AT % F ATAF I T qEATAAT 2

1. FHT TSI 3 ATAF Bl FEATAAT 5

(a) If only conclusion I follows./ T Faer et | IO hTAT g

(b) If only conclusion II follows./ 7% Faet fAeRT 11 IO HTAT g

(c) If either conclusion I or II follows./ % =T a7 [ [ AT 11 IO AT g
(d) If neither conclusion I nor II follows./ & 7 T Akt [ 7 2T 11 THLT hTdT g
(e) If both conclusions I and II follow./ T Ak [ i< 11 1 & REASIET g
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Q25. Statements: Some pen are pencil.
Only pencil are eraser. Test

No pen are marker.
Conclusions: m

I. Some eraser are not marker.

ALL EXAMS,
ONE SUBSCRIPTION.

[I. Some eraser are marker.

FA: T U, AT 2

FaT YT, TLAC B

FIE U, ATHL Aol o

Ao

L. g T, AR A5 8

138 T3, AT &

(a) If only conclusion I follows./ TT% Faer T [ SITHLT FAT
(b) If only conclusion II follows./ 7% Fae At [1 FTEL0T FLqT &
(c) If either conclusion I or II follows./ 7% =T AT fAEs [ 3T 11 TTHLT FIAT

(d) If neither conclusion I nor II follows./ 7% F T fAehd [ 7 & 11 THL0T FLAT
(e) If both conclusions I and II follow./ 7E e I i< 11 T AL FXd &

Q26. Statements: Some book are not magazine.
Only a few magazine are newspaper.

All newspaper are journal.

Conclusions:

[. All newspaper are Magazine.

II. All newspaper being book is a possibility.

T 5, I, AT L1 2

A T IS, T B

Tt =AU, A & |

Ao

1. Tt Fgere, AT 2|

IL ft =AU o G gl GHTaT 6

(a) If only conclusion I follows./ T Faer et [ IO hTAT g

(b) If only conclusion II follows./ 7% Faet fAeRT 11 IO HTAT g

(c) If either conclusion I or II follows./ % =T a7 [T [ AT 11 IO AT g
(d) If neither conclusion I nor II follows./ & 7 AT ARt [ 7 gpr [T SATETIT /AT g
(e) If both conclusions I and II follow./ T AR [ i< 11 11 TTHLIT hd %"
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Directions (27-31): Study the following information carefully and answer the questions given
below:

et ST T sa\ds sreag= oy sii A= fag 17 it & s diforg|

Nine persons A, B, C, D, E, F, G, H, and I were born in different months: January, March, April, May, July,
August, September, October, and December of the same year, but not necessarily in the same order.

C was born in a month with 30 days. There are two persons born between C and I.  was born immediately
after a month having 31 days. B was born in a month having 30 days. B was born immediately before H. D
was born three persons after F who is not the oldest. A was born four months before E.

AT =R A, B, C, D, E, F, G, H 3T | T S0 U &I aY o AT-3T He |l SIH- ST, 7T, A, T, J[ATS, ST,
forava, srFga o femwa # garm o, e e e T2l [+ 2ol 7 | g3 2|

C T 5= 30 T&HT ATl A= & g1 ATI C 32 [ & 1= <7 A T<h T&7 gUI [ T v/ 31 &AT aTer A o6 31 a1 galr
oT| B T STeA 30 a1 a7t A5 # g7 M1 B &1 St7 H & 215 T2 gl AT D T SeH F & 17 AT<h a1& g &7 a0
F a9 T=T Tl gl A FT S+ E & 1T T T8l g3t =AT|

Q27. Who among the following was born in August?
fRaferfea § & @i srreq § ST gem am?

(@D

(b) C

() F
(d)G

(e) None of these/ THH & &I AG!

Q28. How many persons were born between F and I?
F & 1 % = foraer safe der g2

(a) Three/ =

(b) Four/=TX

(c) Two/ &7

(d) One/ T=

(e) None of these / TH & FIs gl

Q29. Which of the following statements is true?
e A e s-aT T aT 82

(a) F was born in September/ F &T ST=H IEEEEE: IR
(b) H was born in October/ H =T STeH 3¢l ) g AT
(c) G was born in May/ G EFFWT%&@HT 21

(d) D was born in December/ D T STvH IEGERS ﬁgCﬂT a7
(e) None is true / FT% ﬁﬁ'WH@%
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Q30. The numbers of persons born between E and G is same as the numbers of persons born
between and .

EsR GF T farguafrai M dwear, sk Feft= dar gu st it deam & aaT gl

(a)AD

MILG

(c)CH

(d)B,A

(e) None of these / T#H ¥ IS AT

Q31. Who was born two months after E?
E F 57 & T WA a1< fheant ST am?
(@)1

(b)B

(gC

(d)D

(e) None of these / T#H ¥ TS AT

Q32.Find the odd one out?

e & & 39 19 Ffor St o= & o g
(a) LRUK

(b) TGJS

(c) UDFT

(d) OKNN

(e) BPSA

Directions (33-35): Study the given information carefully to answer the given questions.

&Y T ST FT SATIE AT oy i w7 w3t F s afvm

There are seven persons i.e. A, B, C, D, E, F, and G of different heights. B is taller than D but shorter than C. F
is taller than B, but not the tallest. Only four persons are shorter than G. G is shorter than C. E is shorter
than B, but not the shortest. D is neither the shortest nor 3rd shortest. Third highest person height is 170
cm.

S-S AFATS, o AT A< AATA A, B, C, D, E, F 3T G €1 B, D ¥ &4T g oo C & Fler 21 F, B & &4 g, oAfehet
qIH FAT Al gl e AT Ah G TGl 8l G, CH BT gl E, B H FIaT 8, AT 9a¢ FreT 75l gl D 7 ar a4 grer
g I T B 19 qa9 FraT g1 9L Taw TTered el 2AT<h il dars 170 T g

Q33. Who among the following is the fourth shortest person?

et & & 9 g9 et Aae fa 8?2
(@F

(b) D

(c)B

(d) G

(e) None of these T & &5 H@
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Q34. If the F’s height is 50cm more than G and the difference of height between E and F is 100cm
then what is the possible height of B?

gfa F &1 S8, G 1 S92 & 50 T ofd & 7T E 3 F Y F912 % = 7 siqx 100 T § dv B & @wrfaq
ST T AR

(a) 174cm/174 T+T

(b) 118cm/118 #¥

(c) 180cm/180 =¥

(d) 135cm/135 5¥

(e) 119cm/1198HT

Q35. How many persons shorter than the one who is just taller than E?

E & &% w7 i< & farqm srfRe e €2
(a) Three/ 9

(b) One/t=®

(c) None/ FT< 5t

(d) Two/ =T

(e) None of these/ THH ¥ IS AT

Directions (36-40): Study the following information carefully and answer the questions given below.
et s 1 sagE® deage fiforg s A= R e ot F s dfom)

Seven persons M, N, O, P, Q, R, and S sit in a row and all of them face towards the north direction. Each of
them likes different fruits viz. Apple, Banana, Mango, Orange, Grapes, Pineapple, and Watermelon. All the
information is not necessarily in the same order.

R sits third to the right of O who likes Mango. R sits second to the left of Q. The one who likes Banana sits
at one of the extreme ends of the row. P sits third to the right of the one who likes Grapes. Only two person
sits between N and Q. R doesn’t like Watermelon. S sits fourth to the left of R. The one who likes Apple sits
second to the right of N who likes neither Watermelon nor Pineapple. S doesn’t sit to the right of the one
who likes Banana.

ATd =<k M, N, O, P, Q, R, 3 S U U<k | o g 3T T T & ITL (QT &l A gl ITH & T I TAT-AAT
A STH U, HeAT, ATH, HALT, ST, AT AT AL THE 5| TR Al 1o THT STTARTLT SHT F7H | gl

R, O % TTE A TMH< TTH T S3T g TAT O &I ATH T6E gl R, Q T aTS A THL EATH I 93T gl HeAT THE il ATAT
T<F dTeh o Tohell T GIT 9T 93T g1 P, 3R THE HT a7l A1k o &Ts AT qIHL &7 9T I57 g1 N 3T Q & &=
FAA T AT 96 gl R A TGSl T0E Aal gl S, R & AT AT AT TITH UL 937 gl 99 THE H qTe1 AT<h, N F a5
AT T BT TTA3T & TAT N T 7 AT TS 3T 7 BF AATTE THE g1 S, FicAT THE HiXed AT SAT<h o 10 Agl 98T

2l

Q36. Which of the following fruit does P like?
P & e ® & #19-a1 wa Teg 87

(a) Banana/ T

(b) Pineapple/ SATATH

(c) Apple/ &=

(d) Grapes/ 37X

(e) None of these/ THH & &I AG!
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Q37. Who among the following likes Watermelon?
fRafafea # o e g e @?

(@s

(b) M

(@9Q

(d)P

(e) None of these/ TAH T FHS H‘@

Q38. Which of the following pair sit at the extreme ends?
fRafafea # @ a-ar g st aR s |?

(a) M, N

(b)QP

()QN

(dM,Q

(e) None of these/ THH ¥ TS AT

Q39. Which of the following is true?

R s T aa-ar R T ?

I. P sits 2nd to the right of the one who likes mango
II. O and M are immediate neighbours

I11. S sits 2nd to the left of the one who likes Grapes

I. P, ¥ THE X ATl SAT<h o QT A GO &I T AT g
I1. 0 3T M e et &

I11. S, 3T 98T A aTel F1<h o ATs AT THL T 9T 93T &
(a) Only I/ Faer I

(b) Both Il and I11/ 11 3 Il =TT

(c) Only 11/ &= 111

(d) Both I and 11/ I 3f¥ 11 14T

(e) Only I/ Faer 11

Q40. What is the position of the one who likes Apple to the one who likes Banana?
HAT THT FA AT ATh & HF THE HLA ATl A T<h = T FAT &7

(a) 27 to the right/ ITE 3T TALT

(b) Immediate right / 1% a0

() 4" to the right / &S 3T =TAT

(d) 2nd to the left / TS 3 TAT

(e) Immediate left/ 1% aTd
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Directions (41-46): What will come in the place of question mark in the following number series.

Rafefea dear gaar § wrars e F s g s

Q41.361, 7, 920, 1045, 1109, 1136
(a) 873

(b) 1090

(c) 486

(d) 704

(e) 1361

Q42.100, 83, 70, 59, 52, ?
(a) 47
(b) 43
(c) 45
(d) 41
(e) 40

Q43.14, ?, 29, 49, 89, 169
(a) 24
(b) 17
(c)19
(d) 27
(e) 18

Q44.2.5, 15, 75, 300, ?, 1800
() 900
(b) 450
(c) 600
(d) 150
(e) 1200

Q45.10, 11, 24, 75, ?, 1525
(a) 300
(b) 304
(c) 302
(d) 306
(e) 310

Q46. 64, 102, 159, 235, ?, 444
(a) 330
(b) 320
(c) 350
(d) 300
(e) 360
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Directions (47-52): The pie chart (I) shows the percentage distribution of total number of orders
delivered by Twiggy and Xomato together in four different days. The pie chart (II) shows percentage
distribution of total number of orders delivered by Twiggy in these days. Read the following pie

charts carefully and answer the questions given below.

(1) Total orders
delivered by Twiggy
and Xomato together

(I1) Total orders
delivered by Twiggy

m Thursday
 Friday

m Saturday
© Sunday

qTE AT (1) AT AT-3T &A1 | Ranft 3 et gT U a1 Bettax fohw 70 Ay $it Fo1 |@edr &1 qraead
faraor gertar g1 aTE =e (1) =9 =i § Ranft g Rsttax w0 sifSx 6 et e it afqera fEawor gerar g1

erferfera 9t =1 & eam | o i A e T v R sae E

() efeh sk St qam
s |y RBfaer fFe v
Fa HIST = 720

() feeit gamr By
fFT aIv Fa AET = 540

14
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Q47. Total number of orders delivered by Xomato on Monday is 25% more than the total number of
orders delivered by Twiggy on Thursday. If the average number of orders delivered by Xomato on
Monday and Tuesday together is 95, then find the total number of orders delivered by Xomato on
Tuesday?

HIWETE T AT g7 Reia g 17 i€ it Fot g, Team # Ranft g Refax g 1o st i 5o dem
" 25% AfarF 1 I Fraa i /rerae i sirier g Refax fFg o sits it siraa @&ar 95 €, aF s-raar< &t
TR g feefiaw g a1 site i o1 Tt s HifSrw

(a) 45

(b) 55

(c) 35

(d) 65

(e) 75

Q48. Total number of orders delivered by Xomato on Saturday and Thursday together is what
percentage more or less than the total number of orders delivered by Twiggy on Thursday?

ATRET &R TR FT A T g Retax g 1o ST i For dem, TEar &t et g Reftax fag
T AU A F FeAqT & fFaw wiera sifw arFw @2

(a) 45%

(b) 20%

(c)35%

(d) 15%

(e) 25%

Q49. On Sunday, 60% and 5/9th of the total orders delivered by Twiggy and Xomato are returned
by the customers respectively, then find the difference between the actual number of orders
delivered by Xomato and Twiggy on Sunday (actual numbers of orders means all orders which didn’t
return)?

A A, Raft sk AT g Refax e 1T 5ot ST & & FHM: 60% 30X 5/937 ATEshl gL ATI9 Fohg STy
&, T Taame it sAeT o RRasft g st fg g siS<  areatas &t & fi= sfae sra Hiforg (ST H
FTEaras G&dT &7 372 g F T SAST S ATq9 7@l 3Y)?

(a) 34

(b) 16

(c) 28

(d) 42

(e) 24

Q50. The total number of orders delivered by Twiggy and Xomato together on Monday are 38 less
than that of on Saturday. If the average number of orders delivered by Xomato on Monday and
Wednesday is 80 and the total number of orders delivered by Twiggy and Xomato on Wednesday is
in the ratio of 1:4, respectively, then find the total number of orders delivered by Xomato on Monday.

WA T Raft sk T g0 T 91 [Refiax vy g sie < it 5o |, aa # Baft ik e s o&
are Refia< g g sitS < it Fr g&aT & 38 F9 Bl A< FHETL i) gEaT< it sirAer g Refa g g sisc i
S q G&AT 80 § S gEAT &l fRar(T sl FreT g fRefiax fohg 17 ST it For 9&aT HHeT: 1:4 F AqUIAT A 3,
AT AT & T g Rt g 11 i€ it 1 deam ara
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(a) 40

(b) 25

(c) Can’t be determined / fR&THa wgi ST ST HFaT
(d)9o

(e) None of these / T7H & FI< A5l

GET IT ON
Google Play

Q51. Find the ratio between the total number of orders delivered by Twiggy on Thursday and
Sunday together and the total number of orders delivered by Xomato on Friday and Saturday
together.

TR 3 Far &t T arer Raft g fRta< fFg 1w i i 3o dear s e i affam & e
TR g fesfiaw g o =it Yy por Tt 3 i srepuma e v

(a) 26:11

(b) 27:13

(c)27:11

(d) 27:14

(e) 21:19

Q52. If 7/12th of the total number of orders delivered by Twiggy in day shift on Thursday and 25%
of the total number of orders delivered by Xomato in night shift on Thursday, then find the
difference between the total number of orders delivered by Xomato and Twiggy in night shift on
Thursday is what percentage of the total number of orders delivered by Twiggy and Xomato
together on Sunday?

7t et #t fam it faree # et g fesdia fre o o ST it de &t 7 /1237 AT i [ear it aa i
faree & s g Rhiaw fore o g it it ST F°T 25% g, A7 [RAT 0 O H fAee § i s Rt
g1 fRefer g w1 et ST 3 ofter o o, TR o Raft s sirder grer wan amer Refe fvg o per it
&t geqr 1 fraar afaera 87

(2) 10%

(b) 15%

(c) 25%

(d) 30%

(e) 20%

Directions (53-58): The table shows the total songs (cultural and modern) download by two persons
(A and B) in Quarter 1 and Quarter 2. The table also shows the ratio of cultural and modern songs
download by these persons in the given quarters. Read the following table carefully and answer the
questions given below.

A B
Quarters Total Ratio of Quarters Total Ratio of
songs cultural to songs cultural to
download modern download modern
songs songs
download download
Quarterl 65 5:8 Quarterl 55 5:6
Quarter2 80 3:5 Quarter2 a0 2:3
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qrferst # <¥ AR (A ST B) g7 faamgt 1 sfix faumel 2 # st fag g 3o 1+ (aiewfas i) srgfae)
AT 1T 31 qrferdT & & 12 fawrfRat & 37 saforat g steaere fang 1T wiesfae si sregfaes wftat = srquma

+ft gertar T 81 Faferfera arfersT &1 eamgE s stegae Y sl = fRg o et F sac s

A B
mwnlg mﬁm
e
T | .
e O] e O]
T BT I BT
STUTd STUTd
fomret 1 65 5:8 fommst 1 55 5:6
foaret 2 80 3:5 fommet 2 90 2:3

Q53. Find the ratio of the cultural songs download by A in quarter 2 to the modern songs download
by B in quarter 1.

TR 2 § A g SRl T T Hiesiae Miai &1 ARl 1 # B gy s1eA«re g 1 sregfae <ot & srquma
T fifm

(a) 1:2

(b) 1:1

(c)2:1

(d)1:3

(e) 3:1

Q54. The total songs download by C in quarter 1 are 60% more than the modern songs download
by B in quarter 1. If the cultural songs download by C in quarter 1 are 20% less than those of A, then
find the modern songs download by C in quarter 1 is how many more or less than the cultural songs
download by A in quarter 2.

AT 1§ C g STRAaeE fFu 1T For I fAwTEr 1 H B gy SreAete Ry 1 smgfAes At & 60% faF §)
e fAaTEr 1§ C g ereAaie g 1T Hiesfas T, A §IRT STSAdIE T T iEhiae T i o § 20%
w9 §, a1 AT 19 € 30 seaale g 1T sy 1, fAATer 2 9 A g7 s1eaare e g |iesfas et
¥ fraer stfer v w4 &
(a)3
(b) 5
()4
(d)1
(e) 2
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Q55. The total songs download by A in quarter 3 and quarter 2 are in the ratio of 11:16, respectively.
If the average cultural song downloads by A in quarter 1 and quarter 3 is 24, then the modern song
download by A in quarter 3 is what percentage of the total song download by B in quarter 2
(approx.)?

fRTEr 3 sk fAwTeEt 2 7 A g SRAwE g 1T $7 T FHeT: 11 @ 16 F Squra | g1 7t w1 sk [_wrer
3§ A G ST Fiepiae T ST 24 §, T fAaer 3 7 A g seare g g sy e, i€y 2 9 B
FTT STSAATE [T T o1 11 7 Foha=T widera 8 (@9Ts17) 2

(2) 43%

(b) 39%

(c) 31%

(d) 36%

(e) 26%

Q56. Find the difference between the average modern songs download by B in quarter 1 and quarter
2 and the cultural songs download by A in quarter 2.

TR 1 3 AR 2 # B g7 TeA«re g 1T sira swegfaes e ofie fawmat 2 7 A g steaene fg g
HICHTQa AT % = A AT P

(a)12

(b) 10

(c) 4

(d) 16

(e)8

Q57. Total romantic songs download by A in quarters 1 and 2 is X+8 and X-5 respectively. If the total
songs (cultural and modern) download by A in quarter 2 is three less than the total romantic songs
download by A in quarters 1 & 2, then find the value of X.

RATRr 1 37 2 § A g1 TeAaie T T o Aifes T FAT: X+8 3T X-5 €| IR a2 § A gy
SIS T TT Fo T (TSR AT rgfAs) fRame 1 37 2 & A gy srease g 1w Fer Quifess =Y
T 7 w7 §, I X FT A 71T HA

(a) 50

(b) 35

(c) 20

(d) 25

(e) 40

Q58. Total modern songs download by B in quarter 1 is how much percentage more or less than the
total modern songs download by A in quarter 2?

fA\TET 1/ B g0 Tsaie g 10 et sy A 1, fAATet 2 ®§ A g seeaie fohe Tq et sgfae e | e
wiaera T a1 9 82

(a) 25%

(b) 40%

(c)32.5%

(d) 33.33%

(e) 16.67%
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Directions (59-64): What approximate value should come in the place of questions (?) mark in the

following questions.

Ruferfe Tt § seam=s BT (2) % 01 98 41 SAqHTET /I ST 918 Q?

Q59. 2% | 32.07 = 169.03 - 7
10,99

(a) 142
(b) 92

(c) 112
(d) 122
(e) 102

Q60.2.99 x 15.99 + 3.99 x23.04 =99.93 +?
(a) 40
(b) 50
(c)30
(d) 25
(e) 60

Q61. V720.003 + 880.002 X o2 =7

(a) 256
(b) 216
(c) 312
(d) 196
(e) 156

655.99+7

Q62. 42,003
(a) 196
(b) 316
(c) 256
(d) 412
(e) 386

% 20.97 = 520.87

824,993

Q63. 941.980 - ———=7+102.001
24.990

(a) 807
(b) 897
(c) 717
(d) 568
(e) 348

208.01 223.998 _
Q64' 15.99 13.0086

(a) 164
(b) 194
(c) 184
(d) 224
(e) 284

?
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Directions (65-66): Read the information carefully and answer the questions carefully.

QTS ATAHTL T SATIAH LA . ST T & IAL S

There are three institutions A, B, C in which some students (boys and girls) and B has 36 boys. The
difference between the number of boys in A and B equals to the difference of number of boys in A and C.
The number of boys in School C is greater than the number of boys in School A. The respective number of
girls in Schools A, B, and C are consecutive multiples of 4. The total number of students in School A is 40.
The total number of students in School C is 56.(Note: A has least number of boys)

AT FEATT A, B, C & S8 T& 0T (A= X A=fahat) g 3T B 36 @+ gl A 3fX B § FE! il €&AT & 419
T (AT A 3T C H TSI T HEAT o (q< & Ga< gl TheA CH TS| il T&AT TheA A H ASHI a0l H&aT 7 Aferh
S T A, B 3T C & SASft i1 T HeAT 4 % FiWa U 8| Tt A § STl 1 T ST 40 g1 F6d CH oA
FT T HEAT 56 | (ATe: AH ASHI il T&AT T 7 §)

Q65. What is the number of boys in School A?
el A ¥ Tt i e e 27

(a) 22

(b) 28

(c) 24

(d) 20

(e) 26

Q66. What are the total numbers of girls in Schools A, B, and C together?
T A, B 3T C § U 91y Afa it gor g gt 82

(a) 40

(b) 44

(c) 46

(d) 48

(e) 42

Q67. A and B together complete a work in 6 days. If time required to complete 90% of work by A is
equal to time required to complete 60% of work by of B, then find the time taken by A to complete
50% of the same work?

A 31X B e [t 19 T 6 foAT & 0 X g1 A< A SR 90% FTH T A & 9 1T 997 B T 60%
I G HA | T AT GHT F I 7, AT A IR IHT HTH HT 50% T FA | T 79T GHT AT HI1org|
(a) 7.5 days/7.5 &=
(b) 10 days/10 fa=
(c) 5 days/5 o=
(d) 6 days/6 fa=
(e) 12 days/12 f&=
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Q68. A invested Rs P at rate of 5% p.a. for two years on simple interest and B invested Rs P+1000 at
rate of 10% p.a. for three years on simple interest. If the difference between interest received by A
and B is Rs 1300, then find the value of P (in Rs.)

A T GTYTIOT AT YT &7 T & forg 5% Wi a9 it g P €9 1 fAaer fhar s B 7 Qremor sarst qX 19 a9
¥ T 10% wfc af i T & P+1000 T3 7 fAer famam af3 A sfik B gy s s & offt= %7 3ia< 1300 T0
&, T P &7 919 (¥99 ®) 19 fiforw

(a) 4000

(b) 7500

(c) 10000

(d) 5000

(e) 8000

Q69. A and B entered into a business and invested in the ratio of 3: 5 respectively. After 6 months, C
also joined with investment of three times of investment of B. At the end of a year, then total profit
was Rs 6200. Find the profit share of A?

A S B T 9T # T F3am i sFwer: 3 : 5 % aqara § fRaer Bmm 6 wda g, ¢ st B & Raer w e e
fRerer 3 arer arrfaret 31 AT U a9 o HT H, T ATH 6200 FIX AT| A FT AT {eam 71a Hirfor?

(a) 1200 Rs /1200 &9

(b) 2000 Rs /2000 &9

(c) 3000 Rs /3000 &9

(d) 1000 Rs /1000 =7

(e) 1500 Rs/1500 &9

Q70. Rima spends 25% of his monthly salary on grocery, 10% of remaining salary on house rent
and 40% on education. If she invests remaining amount of Rs 18000 in FD, then find the monthly
salary of Rima?

T o7 AR A9 T 25% 0 I, AT 377 FT 10% =< F FHT 92 30T 40% fAe7 R as <t g1 IR TE
AT 18000 TTY THST § AT FLA g, I THT T 71f8e a1 wt1a Hforg?

(a) 36000 Rs / 36000 €93

(b) 48000 Rs / 48000 9

(c) 40000 Rs / 40000 &9

(d) 54000 Rs / 54000 &9

(e) 30000 Rs / 30000 =7

Q71.In a class there are 300 boys and 120 girls, while the number of failed boys and girls are equal.
If passed boys are 180% more than passed girls, then find the number of passed students (boys &
girls) in the class?

T FETH 300 TS 3 120 ASTHAT §, TaTeh SIA 0t A oh A ASTHAT it H&AT T g1 AT IAIT ASH, IATO
ASTHRIT & 180% AT &, TT FEATH IAV ST (TS S ASTHAT) it H&AT AT HIorg?

(a) 380

(b) 360

(c) 329

(d) 240

(e) 400
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Q72. The length of base of a right angle triangle equal to length of a rectangle which breadth is 70
cm. If the height of the triangle is 24 cm and area of the rectangle is 1400 square cm, then find the
area of the right angle triangle (in square cm)?

T FHA(IT 9T o ST il AATS U AT 3l AdTs o a6 g oreenl =1eTe 70 TH g1 I B i S8 24
THT B ST ST &7 &6 1400 3 THT ¢, T THDH T ST T A6 (3 qHT §) TG Fifor0?

(a) 480

(b) 160

(c) 180

(d) 240

(e) 300

Q73. If the sum of 80% of x & 60% of y is 540 and the sum of x and y is 775, then find ‘x’?
T X FT 80% Ty FT 60% FT T 540 g TAT X 3T y FT AT 775 ¢, AT 'X" 7 FHrfora?

(a) 375

(b) 400

(c) 325

(d) 450

(e) 300

Q74. An article is mark up 30% above its cost price and it sold at 10% discount. If profit received on
the article is Rs 204, then find the selling price when the same article is sold at profit of 10%?

TF 6] Fl I 7T ToF T 30% 1T T I Sifoha FHIT T T9T T 10% T I =7 797 (R 9% 9 98
AT 204 T §, T I T8 A 10% ATH 7€ I=+ 9% ey go stra i)

(a) 1280 Rs /1280 &9

(b) 1360 Rs / 1360 9%

(c) 1240 Rs / 1240 =9

(d) 1320 Rs / 1320 &9

(e) 1420 Rs /1420 &9

Q75. The time taken by a boat to cover 1.2D km upstream is two times of the time taken by the boat
to cover D km downstream. If the difference between upstream and downstream speed of the boat
is 6 km/hr, then find the speed of the boat in still water?
T 19 F7 €T F g 1.2D B f & 7o w0 7 foram wan oo, 7 gr o & g D fefy fr g o
A § FoIT 1T qHF F67 Q7 IAT 81 AT AT At &1RT 3 TTAHer i< &1 % SITha T o o1 7 (A< 6 [HHT /5T §,
A i 91 | A1 it iy w9 ffvw?
(@6
(b) 8
(c) 16
(d) 12
(e) 14
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Q76. A present age is 4/5% of B present age while age of B after 5 years will be equal to twice the
present age of C. If the sum of ages of all three is 37 years, then find the present age (in years) of A?

A & AR g B Y TAATT A FT 4/537 § ST(H 5 99 I B A A1 C HiY A0 A1 % R & F gHi|
Ife A1 & oY F7T IRT 37 A9 g, AT A F Fq919 g (T |) FTG hiforgl

(a) 15

(b) 10

(c)12

(d) 17

(e) 20

Q77. A vessel contains 112 liters mixture of milk and water in which water is 28 liters. 32 liters of
mixture taken out from the vessel and 12 liters milk added in the remaining mixture. Find quantity
of milk is what percent more of quantity of water in the resultant mixture?

T Fd9 A 8 A qIt &1 112 ste< fsyor § S areft 28 #fiex g1 a7 & 32 #fex frsyor f_ewrer o srar @
e Ay Farsror # 12 e gor e e strar 81 aforedt frsror & ger i wram areit & wra & frae e sfees
87

(a) 360%

(b) 260%

(c) 200%

(d) 320%

(e) 280%

Q78. 180 meters long train A crosses train B having length of 120 meters and running in opposite
direction in % seconds. If speed of train A is 6 /5th of the speed of train B, then find the time taken
by both trains to cross each other, when they running in same direction?

180 HeT Fft 2 A, 120 Hie &ft o Faadig fRem § =« & aw Bﬁ'%ﬁﬁﬁﬁﬁﬁﬂ‘cﬁ%l eI A ST TR
T B Y T FT 6/5a1 ART §, AT TAT A1 G TH-GHL Dl I HLA A FH>T 9T TR/T ATT A, I F TH &b
o & =1 G &7

(a) 60 sec/60 TFHE

(b) 58 sec/58 Ha&HE

(c) 55 sec/55 HHE

(d) 50 sec/50 HFHE

(e) 65 sec /65 THE

Q79. First train starts from station A at 6 am and reaches station B at 4 pm and second train started
from B at 7 am and reaches A at 3 pm. Then, find the time at which both the trains meet each other.

Tl 3 GIg 6 T €T A | [E Il § S STH 4 F57 €9 B UX Ig=d1 ¢ Sl g o4 g98 7 a1 B & Lt
& M I 3 9 A T IEAAT gl AV, T THT AT <. o1 T AT o Toh AL & FHedT §)

(@) 11: 10 am /qag 11: 10 T

(b) 11: 05 am / §ag 11: 05 a7

(c) 11: 00 am / &g 11: 00 =T

(d) 10: 55 am / &g 10: 55 &

(e) 10: 50 am / qag 10:50 5T
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Q80. The average marks of Bunty, Shunty & Chunky in an exam is 90 while that of Dumpty is 20%
more marks than of Shunty. If average marks of Bunty & Chunky is 95. Find average marks of all
four.

T T4ET § F1, 8T AT Fh ¥ Sl 3 90 § ST SFE & i 97T T 3iF A 20% AGF g aR G ATHHTF
T & 95 §1 ATY o AT (e ATq HIIT

(@) 915

(b)93.5

(c) 88.5

(d)9o

(e) 95

S1. Ans.(b)

Sol.
v Q T u P R
1 1 1 I— Row-2

-
—_—
=
=
=
=

1 — Row-1

S2. Ans.(e)

Sol.

s v Q T U P R

] ] ] ] ] ] |

I I I I I I~ Row-2
—+—+—+—+—+—+ Rows
C E A G =1 D F

$3. Ans.(a)

Sol.

s v Q T U F R

] ] ] ] ] ] ]

1 I I 1 1 1 — Row-2
—+—+—+—+—+—+ Row
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$4. Ans.(c)

Sol.

5 vV Q T u P R

Row-2

] L ] ] L ] ]
1 1 1 | | | — Row-1
C E A G B D F

First person sits 21 to the left of 27 person

$5. Ans.(d)

Sol.
35 Vv Q T 1] P E

1 L L L 1 L L
1 I I I 1 I I~ Row-2

——+—+—+ Row

S6. Ans.(b)
Sol. . P> T (False) II. W <P (True)

S$7.Ans.(a)
Sol.I. G < T (True) II.G =R (False)

$8. Ans.(d)
Sol. I. C < E (False) II.G < D (False)

S9. Ans.(d)
Sol.

L

748523971

L]

$10. Ans.(b)
Sol.

P() R(-)

U(-)=V(+]—Q(-) =——W(+)

T(+) ==Y (+) == X(-)

S(+)
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S$11. Ans.(c)
Sol.

P(-) R(-)

U(-)=Vv(+)=—2Q(-) w(+)

T(+) ==Y (+)=X(")

s(+)

$12. Ans.(c)
Sol.

P(-) R(-)

U(-)=V(+)—Q(-) — W(+)

T(+) ==Y (+)=X(-)

S(+)

Except P all are males

$13. Ans.(c)
Sol.
Floor Flat-X Flat-Y
5 0 P
4 s 1]
3 N W
2 \'J T
1 E (0]
S14. Ans.(a)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 g u
3 N W
2 \i T
1 E (8]
$15. Ans.(b)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 s u
3 N W
2 \i T
1 R o
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$16. Ans.(b)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 3 u
3 N W
2 v T
1 R 0]
$17. Ans.(c)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 3 u
3 N W
2 v T
1 E (0]

All lives in flat-Y except S

$18. Ans.(e)
Sol. More than one meaningful word formed

$19. Ans.(b)
Sol.
Word Code
Happy/not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "smile" is coded as "rd".

$20. Ans.(e)
Sol.
Word Code
Happy/not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "not" is coded as either xa or pb.

GET IT ON
Google Play
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$21. Ans.(c)
Sol.
Word Code
Happy,/not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "bad" is coded as "nq".

$22. Ans.(a)
Sol.
Word Code
Happy,/not Xa/pb
Bad Mg
Good Tf
Towards Ut
Smile BEd
Sorrow Lk
Sad Zh

Possible code

$23. Ans.(b)
Sol.

S$24. Ans.(a)
Sol.

for “happy good” is “xa tf”

Banana

GET IT ON
Google Play
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$25. Ans.(a)

Sol.

Pencil

$26. Ans.(b)
Sol.

S$27. Ans.(e)

Sol.

Months Persons

January

March

April

May

July

August

September

October

December

DW= (Do || =

$28. Ans.(a)

Sol.

Months Persons

January

March

April

May

July

August

September

October

December

DTSR |—= D || | =

GET IT ON
Google Play
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$29. Ans.(b)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

DT | = ||| =

$30. Ans.(c)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

O [ | | — | D | | |

S$31. Ans.(d)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

D@m= |2 || | e

$32. Ans.(c)

Sol. Follow same logic except option (c)

+3

GET IT ON
Google Play
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$33. Ans.(c)

So.C>F>G(170cm)>B>E>D>A

S$34. Ans.(d)

So.C>F>G(170cm)>B>E>D>A

$35. Ans.(a)
Sol. C>F>G(170cm)>B>E>D>A
$36. Ans.(c)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$37. Ans.(a)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$38. Ans.(e)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$39. Ans.(b)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$40. Ans.(e)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana

GET IT ON
Google Play

31 I adda247.com/defence | www.sscadda.com | www.bankersadda.com

www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

S$41. Ans.(d)

Sol. Pattern of series -
361+73=704

704 + 63=920

920 + 53=1045

1045 +43=1109
1109 +33=1136

S42. Ans.(a)

Sol. Pattern of series -
100-17 =83
83-13=70
70-11=59
59-7=52
52-5=47

S$43. Ans.(c)

Sol. Pattern of series -
14+5=19

19 + 10 =29

29 +20=49

49 + 40 =89

89 +80 =169

S44. Ans.(a)

Sol. Pattern of series -
25x6=15

15 x5=75

75 x 4 =300

300 x3=900

900 x 2 =1800

$45. Ans.(b)

Sol. Pattern of series -
10x1+1=11

11 x2 + 2=24

24 x3+ 3=75

75x4 + 4=304

304 x5 + 5=1525

$46. Ans.(a)

Sol. Pattern of series -
64 +38=102

102 +57 =159

159 +76 =235
235+95=330

330 + 114 =444
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GET IT ON
Google Play
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S$47. Ans.(b)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 % % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Xomato on Monday =3 % 108 = 135
Total number of orders delivered by Xomato on Monday and Tuesday together =95 x 2 =

190
Total number of orders delivered by Xomato on Tuesday = 190-135=55

S$48. Ans.(e)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 % % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Xomato on Saturday and Thursday together

=36+45 =81

Required percentage =

108-81
108

% 100 = 25%
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$49. Ans.(a)
Sol.
On Thursday

Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % =108
Total number of orders delivered by Xomato = 144 — 108 = 36

Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Required difference = 135 x %— 45 X %

=54 —-20=34

$50. Ans.(c)
Sol.
On Thursday

Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 X % =108
Total number of orders delivered by Xomato = 144 — 108 = 36

Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

The total number of orders delivered by Twiggy and Xomato together on Monday

=288-38=250

Total number of orders delivered by Xomato on Monday and Wednesday

=80x2=160

GET IT ON
Google Play

Total number of orders delivered by Twiggy and Xomato on Wednesday is in the ratio of 1:4, respectively
We have no actual data about the total number of orders delivered by Xomato on Wednesday

So, can’t be determined.
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GET IT ON
Google Play

S$51. Ans.(c)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Twiggy on Thursday and Sunday together
=108 + 135 =243

Total number of orders delivered by Xomato on Friday and Saturday together
=54+45=99

Required ratio = 243:99=27:11

S$52. Ans.(e)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % = 108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Twiggy in night shift on Thursday = 108 x % = 45
Total number of orders delivered by Xomato in night shift on Thursday = % ¥36=9

Required percentage = % X100 = 20%
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$53. Ans.(b)
Sol.
For A

Cultural songs download in quarter 1 =65 X 1_53 =25

Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 =80 x E =30

Modern songs download in quarter 2 = 80 X E =50

For B
Cultural songs download in quarter 1 =55 % 1_51 =25

Modern songs download in quarter 1 = 55 X % = 30

Cultural songs download in quarter 2 =90 x E = 36

Modern songs download in quarter 2 =90 X % =54

Required ratio=30:30=1:1

S$54. Ans.(e)
Sol.
For A

Cultural songs download in quarter 1 = 65 x 1—53 =25
Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 = 80 x % =30

Modern songs download in quarter 2 = 80 X g =50

ForB
Cultural songs download in quarter 1 = 55 X 1_51 =25

Modern songs download in quarter 1 = 55 X ﬁ = 30

Cultural songs download in quarter 2 = 90 x E = 36

Modern songs download in quarter 2 = 90 x % = 54

The total songs download by C in quarter 1 = % % 30 =48

The cultural songs download by C in quarter 1 = % ® 25 =20

The modern songs download by C in quarter 1 =48 - 20 = 28
Required difference =30 - 28 =2

$55. Ans.(d)

Sol.
For A

Cultural songs download in quarter 1 = 65 1—53 =25

Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 = 80 x % =30

Modern songs download in quarter 2 = 80 x g =50
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ForB
Cultural songs download in quarter 1 = 55 x 1_51 =25

Modern songs download in quarter 1 =55 X % = 30
Cultural songs download in quarter 2 = 90 x E =36

Modern songs download in quarter 2 =90 X E =54

The total songs download by A in quarter 3 = % %11 =55

The total cultural song download by A in quarter 3=24 x 2 — 25 = 23
The modern song downloads by A in quarter 3 =55-23 =32

Required percentage = E »* 100 = 35.55% &~ 3694

$56. Ans.(a)

Sol.
For A

Cultural songs download in quarter 1 = 65 x 1—53 =25
Modern songs download in quarter 1 = 65 x % =40

Cultural songs download in quarter 2 = 80 x % = 30

Modern songs download in quarter 2 = 80 X g =50

ForB
Cultural songs download in quarter 1 = 55 X 1—51 =25

Modern songs download in quarter 1 = 55 % ﬁ = 30

Cultural songs download in quarter 2 = 90 X E =36

Modern songs download in quarter 2 =90 X E = 54

The average modern songs download by B in quarter 1 and quarter 2
30454

= S = 4.2

Required difference =42 — 30 = 12

S$57. Ans.(e)

Sol.
For A

Cultural songs download in quarter 1 =65 X 1_53 =25
Maodern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 =80 X % = 30

Modern songs download in quarter 2 = 80 X E =50

For B

Cultural songs download in quarter 1 =55 X 1_51 =25
Maodern songs download in quarter 1 =55 X ﬁ = 30
Cultural songs download in quarter 2 =90 x E =36

Modern songs download in quarter 2 =90 X % = 54
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ATQ,
X+84+X—-5=80+3
2X = 80

X =40

$58. Ans.(b)
Sol.
For A

Cultural songs download in quarter 1 =65 X 1—53 = 25

Modern songs download in quarter 1 = 65 x % = 40

Cultural songs download in quarter 2 = 80 X % = 30

Modern songs download in quarter 2 = 80 X g =50

For B

Cultural songs download in quarter 1 = 55 X 1_51 =25
Modern songs download in quarter 1 = 55 X ﬁ =30
Cultural songs download in quarter 2 =90 X E = 36

Modern songs download in quarter 2 =90 x % = 54

Required percentage = su—ﬂan * 100 = 40%

5

$59. Ans.(d)
Sol.

165
= = —7
T + 32 = 1697

15+32=169 -7
?=122

$60. Ans.(a)
Sol. 3 x 16+ 4 x23 =100 +?
48 +92 =100 +?

?7=40
S$61. Ans.(a)
Sol.
1600 X =2 =7
100
4%64=7
7 =256
$62. Ans.(e)
Sol.
28t w21 =521
42
656 +7 = 1042
7=1386
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S$63. Ans.(a)
Sol.
B25

9432 - —=7+102
25

942 - 33 =7+ 102
?=807

S$64. Ans.(d)
Sol.

208 224:?
16 13

16 % 14 =7
? =224

$65. Ans.(b)

Sol. No. of boys in school B = 36.

Difference of number of boys in schools A and B = Difference of boys in Schools A and C
School C has more boys than School A

So,
Difference of boys (As given condition).
B-A=C-A

B = C (for boys)

So if boys in school B = 36

Then boys in school C = 36

Number of girls in school C =56- 36 = 20

Now we know that

Girls are the consecutive multiple of 4 in schools A, B, C.
Girls in school B=16

Girls in school A =12

In school B total number of students = boys + girls =36 + 16 =52
Boys in school A=40-12 =28

The number of boys in School A = 28

$66. Ans.(d)

Sol. No. of boys in school B = 36.

Difference of number of boys in schools A and B = Difference of boys in Schools A and C
School C has more boys than School A

So,
Difference of boys (As given condition).
B-A=C-A

B = C (for boys)

So if boys in school B = 36

Then boys in school C = 36

Number of girls in school C = 56- 36 = 20
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Now we know that

Girls are the consecutive multiple of 4 in schools A, B, C.

Girls in school B=16

Girls in school A=12

In school B total number of students = boys + girls =36 + 16 = 52
Boys in school A=40-12 =28

Required sum = 12+16+20=48

$67. Ans.(c)
Sol. Ratio of efficiency of A to B =3 : 2 (because time required to complete 90% of work by A = time required

to complete 60% of work by of B)
So, total work =6 % 5 =30 unit

Required time = i ® 30 % % = 5 days

S68. Ans.(d)

Sol.

ATQ,

(P+1000) X > — P x —~ =1300
100 100

3op-10p = 1000

20P =100000
P =5000Rs

$69. Ans.(a)

Sol.
Let investment of A and B be 3x Rs & 5x Rs respectively
Profit share ratioof A Band C=36x:60x:90x=6:10:15

So, required answer = 6200 X i = 1200 Rs

$70. Ans.(b)

Sol.

Let income of Rima = 100x

100% x == x 22*9 _ 15000
100 100

x =480

So, monthly salary of Rima = 48000 Rs

S$71. Ans.(a)

Sol.

Let number of failed boys or girls = n
ATQ,

300-n _ 280

120-n 100

1500 - 5n=1680- 14n

9x =180

x=20

Required answer =300 -20+ 120 - 20 = 380
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$72. Ans.(d)

Sol. Let length of rectangle or length of base of right angle triangle be x’ cm
ATQ, 70x = 1400

x=20

Required area = %)-( 24 % 20 = 240 square cm

$73. Ans.(a)
Sol.

2 o540

5 s

4x + 3y = 2700 (i)
Andx+y=775

From (i} and (ii) we get
x =375 & y =400

S$74. Ans.(d)
Sol.
Let cost price of the article = 100x Rs

So, marked price of the article = 100x x % = 130xRs

Selling price of the article = 130x % % =117x

ATQ, 117x-100x =204
x=12

Required selling price = % =1320Rs

$75. Ans.(d)

Sol. Let speed of boat in still water and speed of stream be X’ km/hr & ‘y’ km /hr respectively
ATQ 22 =2x 2

x=y x+y

2x -2y =12x+ 1.2y

0.8x=3.2y

X:y=4:1

letx=4a&y=a

downstream speed = 5a

And upstream speed = 3a

So,2a=6

a=3

Speed of the boat in still water=x = 4a= 12 km/hr

$76. Ans.(c)

Sol.

Let ages of A, B, Che §, A, P years respectively.
A+5=2P

5_3

A 5

S+A+P=37

4x + 53+ 2 =37

x=3

Presentage of A=4x =4 % 3 =12 years
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$77. Ans.(b)
Sol.

Ratio of milk to water in the initial mixture = [112-28):28=3:1
Quantity of milk in the resultant mixture = (112 - 28) - 32 X % + 12 =72 liters

Quantity of water in the resultant mixture = 28 - 32 % i = 20 liters

Required % = == X 100 = 260%
$78. Ans.(a)
Sol.

Let speed of train A be 6x m/sec
Then speed of train B=5x m/sec
ATQ,

1204180
(6% + 5%) = —o—

=10

11
x=5
. . 120+180
Required time==

30-25

= 60 seconds

$79. Ans.(c)

Sol.

Time taken by first train = 10 hr.

Time taken by second train = 8 hr.

Let distance between these two stations be 40x km
Then speed of first train= 4 x km/h

Speed of second train=5 x km/h

In 1 h, distance travelled by first train= 4x km

-~ total time taken by both trains to meet after 6 am

:1+?=5hr.

g0, both trains will meet at 11: 00 am

$80. Ans.(a)

Sol.

Marks of Shunty =90 X 3 — 95 % 2 = 80
Marks of Dumpty = % X 80 =96

95x2+B04+96 _ 366

Required average = A - = 91.5
42 I adda247.com/defence | www.sscadda.com www.bankersadda.com | www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

